

D ma AM

∇ ma TM T_{TM}^n

D používame D ma TM

$$D(A \otimes \phi) = \underbrace{(DA)}_{\nabla A} \otimes \phi + A \otimes \underbrace{(D\phi)}_{D\phi}$$

\uparrow TM \uparrow AM ∇A $D\phi$

$$D_{[a_0]}\phi_{[a_1 \dots a_p]}^A = D_{a_0} \wedge \phi_{[a_1 \dots a_p]}^A + T_{a_0 a_1}^n \wedge \phi_{[1 a_2 \dots a_p]}^A$$

$$= (p+1) D_{[a_0]}\phi_{[a_1 \dots a_p]}^A + \binom{p+1}{2} T_{[a_0 a_1]}^n \phi_{[1 a_2 \dots a_p]}^A$$

$\Lambda^p \otimes A^2 M$

$\Lambda^p \otimes T^2 M$

$d \nabla$

$$\nabla_{[a_0]}\omega_{[a_1 \dots a_p]}^B = \nabla_{[a_0]} \wedge \omega_{[a_1 \dots a_p]}^B + T_{[a_0 a_1]}^k \wedge \omega_{[1 a_2 \dots a_p]}^B$$

$\delta_{[a_0]}^B \in \Lambda^1 \otimes TM$

$$\nabla_{[a_0]}\delta_{[a_1]}^B = \underbrace{\nabla_{[a_0]} \wedge \delta_{[a_1]}^B}_0 + T_{[a_0 a_1]}^k \delta_{[a_1]}^B = T_{[a_0]}^B$$

$\nabla = \partial + \Gamma$ $\Gamma_{[a_0]}^B \in \Lambda^1 \otimes T^1 M$

$R_{[a_0]}^B \in \Lambda^2 \otimes T^1 M$

$$R_{[a_0]}^B = \partial_{[a_0]} \Gamma_{[a_1]}^B + [\Gamma_{[a_0]}, \Gamma_{[a_1]}^B]$$

$$= \partial_{[a_0]} \Gamma_{[a_1]}^B - \partial_{[a_1]} \Gamma_{[a_0]}^B + \underbrace{\Gamma_{[a_0]}^k \Gamma_{[a_1]}^B - \Gamma_{[a_1]}^k \Gamma_{[a_0]}^B}_{\Gamma_{[a_0]} \wedge \Gamma_{[a_1]}^B}$$

$$\nabla_d R = 0 \quad T=0$$

$$\nabla_{[a_0]} R = 0$$

$$\nabla_{[a_0]} R_{[a_1]}^B = 0$$

$$\Lambda^p \otimes A_x^2 \quad M$$

$$\Lambda^p \otimes T_x^2 \quad M$$

$$d \quad \nabla$$

$$\nabla_{\partial_{x_0}} \omega_{\alpha_1 \dots \alpha_p} = \nabla_{\partial_{x_0}} \wedge \omega_{\alpha_1 \dots \alpha_p} + T_{\alpha_0 \alpha_1}^k \wedge \omega_{k | \alpha_2 \dots \alpha_p}$$

d ∇

$$\nabla_{a_0} \omega_{a_1 \dots a_p}^{\quad b} = \nabla_{a_0} \wedge \omega_{a_1 \dots a_p}^{\quad b} + T_{a_0 a_1}^{\quad k} \wedge \omega_{k | a_2 \dots a_p}^{\quad b}$$

$$\int_{\Sigma} e \wedge T M$$

$$\nabla_a \delta_{ab}^{\quad c} = \underbrace{\nabla_a \wedge \delta_{ab}^{\quad c}}_0 + T_{ab}^{\quad k} \delta_{ik}^{\quad c} = T_{ab}^{\quad c}$$

$$\nabla = \partial + \Gamma \quad \Gamma_{ij}^k \in \Lambda^1 \otimes T^1 M$$

$$R_{ab}^i \in \Lambda^2 \otimes T^1 M$$

$$R_{ab}^i = \partial_a \Gamma_{b\ i}^i - \partial_b \Gamma_{a\ i}^i + [\Gamma_a, \Gamma_b]^i$$

$$= \partial_a \Gamma_{b\ i}^i - \partial_b \Gamma_{a\ i}^i + \underbrace{[\Gamma_a^i, \Gamma_b^i]}_{\Gamma_a \wedge \Gamma_b}$$

$$\Gamma_a \wedge \Gamma_b$$

$$\nabla = \partial + \Gamma \quad \Gamma \in \Lambda^1 \otimes T^1_1 M$$

$$R_{ab}{}^c{}_d \in \Lambda^2 \otimes T^1_1 M$$

$$\nabla_d R = 0 \quad T = 0$$

$$\Downarrow \quad \nabla_a R = 0$$

$$\nabla_{[a} R_{bc]}{}^d = 0$$